
Question 4 
 
Question 
 
According to the answers to the Q1 and Q2 questions with the document entitled Question 3, we 
understand that if the bidder presents more than one hourly rate in column B, Health Canada will 
calculate the average mean of the hourly rates, according to the formula for an arithmetic mean: 
· For example, with 3 hourly rates:    Average rate = (Rate 1 + Rate 2 + Rate 3) / 3 
· Since the 120 hours are not used for evaluation of the financial proposal, , the column C (Level of 

effort/Number of days required) and the column D (BxD: total costs) in the financial tables A1, A2 and 
A3 should be discarded or not completed  

· Could you please confirm? 
 
Answer: 
 
Health Canada will calculate an arithmetic mean in order to produce an average hourly rate.  This 
average hourly rate will be multiplied by 120 hours, purely for evaluation purposes, as this represents the 
typical size of a contract.  To this calculated amount, any miscellaneous charges will be added to produce 
a total bid price for a typical job.  This total amount will then be compared between bidders. 
 
 
*********************************************************************************************************************** 
 
Question 
 
Selon les réponses aux questions Q1 et Q2 du document intitulé Question 3, nous comprenons que si le 
soumissionnaire inscrit plus qu’un taux horaire dans la colonne B, Santé Canada calculera la moyenne  
des taux horaires, en fonction de la formule pour obtenir une moyenne arithmétique :    
· par exemple, avec 3 taux horaires : taux moyen = (taux 1 + taux 2 + taux 3) / 3 
· puisque les 120 heures ne sont pas utilisées pour l’évaluation de la proposition financière, la colonne C 
(Niveau d’effort/Nombre de jours requis) et la colonne D (BxD : Coûts totaux) dans les tableaux financiers 
A1, A2 et A3 devraient être éliminées ou non remplies 
· Pouvez-vous confirmer? 
 
Réponse 
 
Santé Canada calculera une moyenne arithmétique afin d’établir un taux horaire moyen. Ce taux horaire 
moyen sera multiplié par 120 heures, à des fins d’évaluation uniquement, puisque cela représente la 
taille habituelle d’un contrat. Les frais divers seront ajoutés à ce montant calculé pour produire le prix 
total de la soumission pour un travail typique. Le montant total sera alors comparé entre les 
soumissionnaires. 
 


